



Available online at <http://scik.org>

J. Math. Comput. Sci. 5 (2015), No. 5, 647-657

ISSN: 1927-5307

***k*-GAMMA, *k*-BETA MATRIX FUNCTIONS AND THEIR PROPERTIES**

SHAHID MUBEEN^{1,*}, GAUHAR RAHMAN², MUHAMMAD ARSHAD²

¹Department of Mathematics, University of Sargodha, Sargodha, Pakistan

²Department of Mathematics, International Islamic University Islamabad, Pakistan

Copyright © 2014 Mubeen, Rahman and Arshad. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Abstract. The main aim of this paper is to define *k*-gamma and *k*-beta matrix functions, and derive the conditions for matrices M, N so that the *k*-beta matrix function $B_k(M, N)$ satisfies the relations $B_k(M, N) = B_k(N, M)$ and $B_k(M, N) = \Gamma_k(M)\Gamma_k(N)\Gamma_k^{-1}(M + N)$ in the form of *k*-symbol, where $k > 0$. A limit expression for the *k*-gamma function of a matrix is also established.

Keywords: *k*-gamma matrix function; *k*-beta matrix function; Factorial function, Matrix.

2010 AMS Subject Classification: 33B15, 15B36.

1. Introduction

Many of the ordinary special functions of mathematical physics and most of their useful properties can be obtained from the theory of group representations. James [4] discussed that the special functions of a matrix argument appear in the study of spherical functions on certain symmetric spaces and multivariate analysis in statistics. Special functions of two diagonal matrix argument have been used in [5]. In [6], some properties of gamma and beta matrix functions are proved and analogue of the expression of the scalar gamma function as a limit is

*Corresponding author

Received April 4, 2015

given for the gamma function of a matrix and it is also shown that the conditions for matrices M, N in $C^{r \times r}$ so that $B(M, N)$ is well defined and satisfy $B(M, N) = B(N, M)$, and $B(M, N) = \Gamma(M)\Gamma(N)\Gamma^{-1}(M+N)$ are established.

2. Preliminaries

Definition 2.1. The factorial function is denoted and defined by, $(a)_n = a(a+1)(a+2)\cdots(a+n-1)$; for $n \geq 1, a \neq 0$ and $(a)_0 = 1$. The function $(a)_n$ is called the factorial function. It is also known as Pochhammer's symbol.

Note that $n \in \mathbb{N}$, where \mathbb{N} is the set of natural numbers. It is an immediate generalization of the elementary factorial i.e., $n! = (1)_n$. In manipulations with $(a)_n$, it is important to keep in mind that $(a)_n$ is a product of n factors, starting with a and with each factor large by unity than the preceding factor.

Definition 2.2. Let $z \in \mathbb{C}$ (\mathbb{C} is a set of complex numbers), the gamma function is defined by

$$\Gamma(z) = \int_0^{\infty} t^{z-1} e^{-t} dt, \quad \operatorname{Re}(z) > 0.$$

In another way, it is defined as

$$\Gamma(z) = \lim_{n \rightarrow \infty} \frac{n! n^{z-1}}{(z)_n}.$$

The relation between Pochhammer's symbol and gamma function is given below

$$(z)_n = \frac{\Gamma(z+n)}{\Gamma(z)},$$

see [3].

Definition 2.3. Let $k > 0$, then the Pochhammer k -symbol is defined by $(a)_{n,k} = a(a+k)(a+2k)\cdots(a+(n-1)k)$ for $n \geq 1, a \neq 0$ and $(a)_{0,k} = 0$.

Definition 2.4. For $k > 0$ and $z \in \mathbb{C}$, the k -gamma function Γ_k is defined by

$$\Gamma_k(z) = \lim_{n \rightarrow \infty} \frac{n! k^n (nk)^{\frac{z}{k}-1}}{(z)_{n,k}}.$$

Its integral representation is also given by,

$$\Gamma_k(z) = \int_0^\infty t^{z-1} e^{-\frac{t^k}{k}} dt.$$

The relation between Pochhammer *k*-symbol and *k*-gamma function is given as

$$(z)_{n,k} = \frac{\Gamma_k(z + nk)}{\Gamma_k(z)},$$

see [1].

Definition 2.5. If *P* is a matrix in $C^{r \times r}$ then by application of the matrix functional calculus, we define the pochhammar symbol for any matrix *P* in $C^{r \times r}$ as;

$$(1) \quad (P)_n = P(P + I)(P + 2I) \cdots (P + (n - 1)I), \quad n > 0, \quad (P)_0 = I.$$

Definition 2.6. If *P* is a matrix in $C^{r \times r}$ and *k* > 0 then by application of the matrix functional calculus, we define the pochhammar *k*-symbol for any matrix *P* in $C^{r \times r}$ as;

$$(2) \quad (P)_n = P(P + kI)(P + 2kI) \cdots (P + (n - 1)kI), \quad n > 0, \quad (P)_{0,k} = I.$$

If *P* lies in $C^{r \times r}$, using decomposition and denoting $\alpha(P) = \max_{z \in \sigma(P)} \Re(z)$ (where $\sigma(P)$ is the set of all eigenvalue of *P*) for $t \in \mathbb{R}$, it follows that [7, pp. 336-556]:

$$(3) \quad \|e^{tP}\| \leq e^{t\alpha(P)} \left[\frac{\left(\sum_{j=0}^{r-1} \|P\| \sqrt{rt} \right)^j}{j!} \right].$$

Definition 2.7. Let *M* be a matrix and let $n \geq 1$, then $\Gamma(M)$ is defined by

$$(4) \quad \Gamma(M) = \lim_{n \rightarrow \infty} (n - 1)!(M)_n^{-1} n^M,$$

where $(M)_n = M(M + I) \cdots (M + (n - 1)I)$.

Definition 2.8. Let *M* and *N* be two matrices in $C^{r \times r}$ such that $\Re(z) > 0$, $\Re(w) > 0$, for all $z \in \sigma(M)$ and $w \in \sigma(N)$, then

$$B(M, N) = \int_0^\infty t^{M-I} (1 - t)^{N-I} dt$$

and

$$B(M, N) = \Gamma_k(M)\Gamma_k(N)\Gamma_k^{-1}(M+N),$$

see [6].

Lemma 2.1. *If $0 \leq \alpha < 1$ and $k > 0$, then*

$$1 + \alpha \leq e^\alpha \leq (1 - \alpha)^{-1}.$$

Lemma 2.2. *If $0 \leq \alpha < 1$, n is a positive integer, then*

$$(1 - \alpha)^n \geq 1 - n\alpha.$$

Lemma 2.3. *If $0 \leq t < n$, n is a positive integer, then*

$$0 \leq e^{-t} - \left(1 - \frac{t}{n}\right) \leq \frac{te^{-t}}{n},$$

see [3].

3. Derivation of k -gamma and k -beta matrix functions

To derive the k -gamma matrix function, first we have to prove the above Lemma 2.3 in terms of k , which is given by

Lemma 3.1. *If $0 \leq t < n$, n is a positive integer and $k > 0$, then*

$$0 \leq e^{-\frac{t^k}{k}} - \left(1 - \frac{t^k}{nk}\right) \leq \frac{t^{2k}e^{-t^k}}{nk^2}.$$

Proof. Using $\alpha = \frac{t^k}{nk}$ in Lemma 2.1, we get

$$1 + \frac{t^k}{nk} \leq e^{\frac{t^k}{nk}} \leq \left(1 - \frac{t^k}{nk}\right)^{-1},$$

from which it follows that

$$\begin{aligned} \left(1 + \frac{t^k}{nk}\right)^n &\leq e^{\frac{t^k}{k}} \leq \left(1 - \frac{t^k}{nk}\right)^{-n} \\ \Rightarrow \left(1 + \frac{t^k}{nk}\right)^{-n} &\geq e^{-\frac{t^k}{k}} \geq \left(1 - \frac{t^k}{nk}\right)^n. \end{aligned}$$

Hence, we have $e^{-\frac{t^k}{k}} - (1 - \frac{t^k}{nk})^n \geq 0$ and

$$e^{-\frac{t^k}{k}} - (1 - \frac{t^k}{nk})^n = e^{-\frac{t^k}{k}} [1 - e^{\frac{t^k}{k}} (1 - \frac{t^k}{nk})^n].$$

Since $e^{\frac{t^k}{k}} \geq (1 + \frac{t^k}{nk})^n$, we have

$$(5) \quad e^{-\frac{t^k}{k}} - (1 - \frac{t^k}{nk})^n \leq e^{-\frac{t^k}{k}} [1 - (1 - \frac{t^{2k}}{n^2k^2})^n].$$

Now using $\alpha = \frac{t^{2k}}{n^2k^2}$ in Lemma 2.2, we obtain

$$(1 - \frac{t^{2k}}{n^2k^2})^n \geq 1 - \frac{t^{2k}}{nk^2}.$$

Using this result in equation (5), we get

$$e^{-\frac{t^k}{k}} - (1 - \frac{t^k}{nk})^n \leq e^{-\frac{t^k}{k}} [1 - 1 + \frac{t^{2k}}{nk^2}] = \frac{t^{2k}}{nk^2} e^{-\frac{t^k}{k}},$$

which is the required result.

Lemma 3.2. *If M is a matrix in $C^{r \times r}$, $k > 0$ and $\Re e(z) > 0$ for all $z \in \sigma(M)$, then by application of matrix calculus, we have*

$$(6) \quad \Gamma_k(M) = \lim_{n \rightarrow \infty} \int_0^{(nk)^{\frac{1}{k}}} (1 - \frac{t^k}{nk})^n t^{M-I} dt = \lim_{n \rightarrow \infty} n! k^n (nk)^{\frac{M}{k}-1} (M)_{n,k}^{-1}.$$

Proof. In the integral on right hand side in (6) put $\frac{t^k}{nk} = \beta$, this implies that $t = (nk\beta)^{\frac{1}{k}}$ (where β is a matrix, so this means that $\beta^{\frac{1}{k}} = \beta^{\frac{I}{k}}$). Thus after simplification we obtain

$$(7) \quad \int_0^{(nk)^{\frac{1}{k}}} (1 - \frac{t^k}{nk})^n t^{M-I} dt = \frac{(nk)^{\frac{M}{k}}}{k} \int_0^1 (1 - \beta)^n \beta^{\frac{M}{k}-I} d\beta.$$

An integrating by parts gives us the reduction formula, we get

$$\begin{aligned} \int_0^1 (1 - \beta)^n \beta^{\frac{M}{k}-I} d\beta &= \frac{k^{n-1} n(n-1)(n-2) \cdots 1}{M(M+kI)(M+2kI) \cdots (M+(n-1)kI)} \int_0^1 \beta^{\frac{M}{k}+n-I} d\beta \\ &= \frac{k^{n+1} n(n-1)(n-2) \cdots 1}{M(M+kI)(M+2kI) \cdots (M+(n-1)kI)(M+nkI)} [\beta^{\frac{M}{k}+n}]_0^1 \\ &= \frac{k^{n+1} n!}{M(M+kI)(M+2kI) \cdots (M+(n-1)kI)(M+nkI)}. \end{aligned}$$

Therefore, (7) becomes

$$\int_0^{(nk)^{\frac{1}{k}}} \left(1 - \frac{t^{nk}}{n}\right)^n t^{M-I} dt = \frac{(nk)^{\frac{M}{k}} k^n n!}{M(M+kI)(M+2kI)\cdots(M+(n-1)kI)(M+nkI)}$$

so that

$$\lim_{n \rightarrow \infty} \int_0^{(nk)^{\frac{1}{k}}} \left(1 - \frac{t^k}{nk}\right)^n t^{M-I} dt = \lim_{n \rightarrow \infty} n! k^n (nk)^{\frac{M}{k}-I} (M)_{n,k}^{-1}.$$

Furthermore, we write

$$\Gamma_k(M) = \lim_{n \rightarrow \infty} n! k^n (nk)^{\frac{M}{k}-I} (M)_{n,k}^{-1}.$$

Theorem 3.1. *If M is a matrix in $C^{r \times r}$ and $k > 0$, then by matrix functional calculus gamma matrix as:*

$$(8) \quad \Gamma_k(M) = \int_0^{\infty} t^{M-I} e^{-\frac{t^k}{k}} dt.$$

Proof. The integral on right hand side in (8) converges. With the aid of above (6) and (8), we write

$$\begin{aligned} \int_0^{\infty} e^{-\frac{t^k}{k}} t^{M-I} dt - \Gamma_k(M) &= \lim_{n \rightarrow \infty} \left[\int_0^{\infty} e^{-\frac{t^k}{k}} t^{M-I} dt - \int_0^{(nk)^{\frac{1}{k}}} \left(1 - \frac{t^k}{nk}\right)^n t^{M-I} dt \right] \\ &= \lim_{n \rightarrow \infty} \left[\int_0^{\frac{1}{n^{\frac{1}{k}}}} \left[e^{-\frac{t^k}{k}} - \left(1 - \frac{t^k}{nk}\right)^n \right] t^{M-I} dt - \int_{\frac{1}{n^{\frac{1}{k}}}}^{\infty} e^{-\frac{t^k}{k}} t^{M-I} dt \right]. \end{aligned}$$

Since $\int_0^{\infty} e^{-t^k} t^{z-1} dt$ is convergent, so this implies that

$$\lim_{n \rightarrow \infty} \int_{(nk)^{\frac{1}{k}}}^{\infty} e^{-\frac{t^k}{k}} t^{M-I} dt = 0.$$

Hence

$$\int_0^{\infty} e^{-\frac{t^k}{k}} t^{M-I} dt - \Gamma_k(z) = \lim_{n \rightarrow \infty} \int_0^{(nk)^{\frac{1}{k}}} \left[e^{-\frac{t^k}{k}} - \left(1 - \frac{t^k}{nk}\right)^n \right] t^{M-I} dt.$$

Next, we prove

$$(9) \quad \lim_{n \rightarrow \infty} \int_0^{(nk)^{\frac{1}{k}}} [e^{-\frac{t^k}{k}} - (1 - \frac{t^k}{nk})^n] t^{M-I} dt = 0.$$

By lemma 3.1, $0 \leq e^{-\frac{t^k}{k}} - (1 - \frac{t^k}{nk})^n \leq \frac{t^{2k} e^{-\frac{t^k}{k}}}{nk^2} = \frac{t^{2kl} e^{-\frac{t^k}{k}}}{nk^2}$, where $0 \leq t \leq n$ Hence

$$(10) \quad \left\| \int_0^{(nk)^{\frac{1}{k}}} [e^{-\frac{t^k}{k}} - (1 - \frac{t^k}{nk})^n] t^{M-I} dt \right\| \leq \frac{1}{nk^2} \int_0^{(nk)^{\frac{1}{k}}} \|t^{M+I}\| e^{-\frac{t^k}{k}} dt.$$

By equation (3) and using $\ln t \leq t$ for $t > 0$, we write

$$(11) \quad \begin{aligned} \|t^{M+I}\| &\leq t^{\alpha(M)+1} \left(\frac{[\sum_{j=0}^{r-1} (\|M\| + 1)\sqrt{r} \ln t]^j}{j!} \right) \\ &\leq t^{\alpha(M)+1} \left\{ \frac{[\sum_{j=0}^{r-1} (\|M\| + 1)\sqrt{rt}]^j}{j!} \right\}. \end{aligned}$$

By (10) and (11), we have

$$(12) \quad \frac{1}{nk^2} \int_0^{(nk)^{\frac{1}{k}}} \|t^{M+I}\| e^{-\frac{t^k}{k}} dt \leq \frac{1}{nk^2} \left\{ \frac{[\sum_{j=0}^{r-1} (\|M\| + 1)\sqrt{rt}]^j}{j!} \right\} \int_0^{(nk)^{\frac{1}{k}}} t^{\alpha(M)+j+1} e^{-\frac{t^k}{k}} dt.$$

Since for $0 \leq j \leq r - 1$, we have $\int_0^{\infty} t^{\alpha(M)+j+1} e^{-\frac{t^k}{k}} dt$ is convergent. Thus $\int_0^{(nk)^{\frac{1}{k}}} t^{\alpha(M)+j+1} e^{-\frac{t^k}{k}} dt$ is bounded. Therefore

$$(13) \quad \lim_{n \rightarrow \infty} \int_0^{(nk)^{\frac{1}{k}}} [e^{-\frac{t^k}{k}} - (1 - \frac{t^k}{nk})^n] t^{M-I} dt = 0.$$

Hence the following result has been established.

$$\Gamma_k(M) = \int_0^{\infty} t^{M-I} e^{-\frac{t^k}{k}} dt.$$

Since the reciprocal *k*-gamma function denoted by $\Gamma_k^{-1}(z) = \frac{1}{\Gamma_k(z)}$ is an entire function of the complex variable *z*. In case of gamma function, for any matrix *M* in $C^{r \times r}$ the Riesz-Dunford functional calculus shows that the image of $\Gamma^{-1}(z)$ acting on *M*, denoted by $\Gamma^{-1}(M)$ is a well

defined matrix, see [4]. Similarly the image of $\Gamma_k^{-1}(z)$ acting on M is denoted by $\Gamma_k^{-1}(M)$ is well defined matrix. Furthermore, if M is a matrix such that $M + nkI$ is invertible matrix for every integer $n \geq 0$, then $\Gamma_k(M)$ is invertible, its inverse coincides with $\Gamma_k^{-1}(M)$ and

$$(14) \quad M(M + kI)(M + 2kI) \cdots (M + (n - 1)kI)\Gamma_k^{-1}(M + nkI) = \Gamma_k^{-1}(M), n \geq 1, k > 0.$$

From equation (14), we can write

$$(15) \quad M(M + kI)(M + 2kI) \cdots (M + (n - 1)kI) = \Gamma_k(M + nkI)\Gamma_k^{-1}(M), n \geq 1, k > 0.$$

Theorem 3.2. *Let M and N be two matrices in $C^{r \times r}$ such that $\Re(z) > 0$, $\Re(w) > 0$, for all $z \in \sigma(M)$ and $w \in \sigma(N)$, then*

$$(16) \quad B_k(M, N) = \frac{1}{k} \int_0^{\infty} t^{\frac{M}{k} - I} (1 - t)^{\frac{N}{k} - I} dt$$

Proof. By equation (3) and using $\ln t \leq t$ and $\ln(1 - t) \leq 1 - t$ for $0 < t < 1$, it follows that

$$\begin{aligned} & \frac{1}{k} \left\| \int_0^{\infty} t^{\frac{M}{k} - I} (1 - t)^{\frac{N}{k} - I} dt \right\| \\ & \leq \frac{1}{k} \int_0^{\infty} \|t^{\frac{M}{k} - I}\| \| (1 - t)^{\frac{N}{k} - I} \| dt \\ & \leq \sum_{i=0}^{r-1} \sum_{j=0}^{r-1} \frac{(\|M\| + 1)^i (\|N\| + j)^j (\sqrt{r})^{i+j}}{i! j! k^{i+j+1}} \int_0^{\infty} t^{\frac{\alpha(M)}{k} - 1} (1 - t)^{\frac{\alpha(N)}{k} - 1} \ln^i(t) \ln^j(1 - t) dt \\ & \leq \sum_{i=0}^{r-1} \sum_{j=0}^{r-1} \frac{(\|M\| + 1)^i (\|N\| + j)^j (\sqrt{r})^{i+j}}{i! j! k^{i+j+1}} \int_0^{\infty} t^{\frac{\alpha(M)}{k} - 1} (1 - t)^{\frac{\alpha(N)}{k} - 1} (t)^i (1 - t)^j dt \\ & \leq \sum_{i=0}^{r-1} \sum_{j=0}^{r-1} \frac{(\|M\| + 1)^i (\|N\| + j)^j (\sqrt{r})^{i+j}}{i! j! k^{i+j+1}} \int_0^{\infty} t^{\frac{\alpha(M)}{k} + i - 1} (1 - t)^{\frac{\alpha(N)}{k} + j - 1} dt \\ & \leq \sum_{i=0}^{r-1} \sum_{j=0}^{r-1} \frac{(\|M\| + 1)^i (\|N\| + j)^j (\sqrt{r})^{i+j}}{i! j! k^{i+j}} B_k(\alpha(M) + ik, \alpha(N) + jk). \end{aligned}$$

Since

$$\sum_{i=0}^{r-1} \sum_{j=0}^{r-1} \frac{(\|M\| + 1)^i (\|N\| + j)^j (\sqrt{r})^{i+j}}{i! j! k^{i+j}} B_k(\alpha(M) + ik, \alpha(N) + jk) < +\infty,$$

we see that $B_k(M, N) = \frac{1}{k} \int_0^1 t^{\frac{M}{k}-I} (1-t)^{\frac{N}{k}-I} dt$.

Next we prove the following Lemma related to k -beta matrix function.

Lemma 3.3. *Let M and N be commuting matrices in $C^{r \times r}$ such that $Re(z) > 0$, $Re(w) > 0$, for all $z \in \sigma(M)$ and $w \in \sigma(N)$, then*

$$(17) \quad B_k(M, N) = B_k(N, M).$$

Proof. Since M and N are commutable, therefore $MN = NM$. It follows that

$$\left(\frac{M}{k} - I\right)(\ln t) \left(\frac{N}{k} - I\right) \ln(1-t) = \left(\frac{N}{k} - I\right) \ln(1-t) \left(\frac{M}{k} - I\right) (\ln t), \quad 0 < t < 1.$$

Hence, we write

$$\begin{aligned} B_k(M, N) &= \frac{1}{k} \int_0^1 t^{\frac{M}{k}-I} (1-t)^{\frac{N}{k}-I} dt \\ &= \frac{1}{k} \int_0^1 e^{(\frac{M}{k}-I) \ln t} e^{(\frac{N}{k}-I) \ln(1-t)} dt; \quad t^{\frac{M}{k}-I} = e^{(\frac{M}{k}-I) \ln t} \\ &= \frac{1}{k} \int_0^1 e^{(\frac{N}{k}-I) \ln(1-t)} e^{(\frac{M}{k}-I) \ln t} dt \\ &= \frac{1}{k} \int_0^1 e^{(\frac{N}{k}-I) \ln u} e^{(\frac{M}{k}-I) \ln(1-u)} du; \quad 1-t = u \\ &= \frac{1}{k} \int_0^1 u^{\frac{N}{k}-I} (1-u)^{\frac{M}{k}-I} dt \\ &= B_k(N, M). \end{aligned}$$

Lemma 3.4. *Let D, E be diagonal matrices in $C^{r \times r}$ such that $Re(z) > 0$, $Re(w) > 0$, for all $z \in \sigma(M)$ and $w \in \sigma(N)$, then*

$$B_k(D, E) = \Gamma_k(D) \Gamma_k(E) \Gamma_k^{-1}(D + E).$$

Theorem 3.3. *Let M and E be diagonalizable matrices in $C^{r \times r}$ such that $MN = NM$ and $Re(z) > 0, Re(w) > 0$, for all $z \in \sigma(M)$ and $w \in \sigma(N)$, then*

$$(18) \quad B_k(M, N) = \Gamma_k(M)\Gamma_k(N)\Gamma_k^{-1}(M + N).$$

Proof. Since M, N are diagonalizable and commute by [8], they are simultaneously diagonalizable. Let S be an invertible matrix in $C^{r \times r}$ such that

$$(19) \quad S^{-1}MS = D, \quad S^{-1}NS = E,$$

where D and E are diagonal matrices. In order to prove (18), by [8, p. 54], if $\sigma(M) = \{\lambda_1, \dots, \lambda_r\}$ and $\sigma(N) = \{\mu_1, \dots, \mu_r\}$, Then $\sigma(M + N) = \{\lambda_1 + \mu_{i_j}\}_{j=1}^r$, for some permutation i_1, i_2, \dots, i_r of $1, 2, \dots, r$. Since matrices M and N satisfy $Re(z) > 0, Re(w) > 0$, for all $z \in \sigma(M)$ and $w \in \sigma(N)$, it follows that $Re(w) > 0$, for all $w \in \sigma(M + N)$. By Lemmas 3.3 and 3.4 and by equation (19), it follows $M + N = S(D + E)S^{-1}$ and

$$(20) \quad \Gamma_k(M + N) = S \left[\int_0^{\infty} e^{-\frac{t^k}{k}} t^{D+E-I} dt \right] S^{-1} = S \Gamma_k(D + E) S^{-1},$$

$$(21) \quad \Gamma_k(M) = S \left[\int_0^{\infty} e^{-\frac{t^k}{k}} t^{D-I} dt \right] S^{-1} = S \Gamma_k(D) S^{-1},$$

$$(22) \quad \Gamma_k(N) = S \left[\int_0^{\infty} e^{-\frac{t^k}{k}} t^{E-I} dt \right] S^{-1} = S \Gamma_k(E) S^{-1},$$

and

$$(23) \quad B_k(M, N) = S \left[\int_0^{\infty} t^{\frac{D}{k}-I} (1-t)^{\frac{E}{k}-I} dt \right] S^{-1}$$

$$(24) \quad = SB_k(D, E)S^{-1}$$

$$(25) \quad = S[\Gamma_k(D)\Gamma_k(E)\Gamma_k^{-1}(D + E)]S^{-1}.$$

By (20), we get $\Gamma_k^{-1}(D + E) = S^{-1}\Gamma_k^{-1}(M + N)$ and by (21), (22) and (23), it follows that

$$\begin{aligned} B_k(M, N) &= S\Gamma_k(D)\Gamma_k(E)[S\Gamma_k^{-1}(D + E)S^{-1}]S^{-1} \\ &= (S\Gamma_k(D)S^{-1})(S\Gamma_k(E)S^{-1})(S\Gamma_k^{-1}(D + E)S^{-1}) \\ &= \Gamma_k(M)\Gamma_k(N)\Gamma_k^{-1}(M + N). \end{aligned}$$

This completes the proof.

Remark Apart from the commutativity hypothesis, the diagonalizability condition of Theorem 2.2 guarantees that every eigenvalue z of the matrix $M + N$ lies in the right half plane.

Conflict of Interests

The authors declare that there is no conflict of interests.

Acknowledgements

The authors would like to express profound gratitude to referees for deeper review of this paper and the referee’s useful suggestions that led to an improved presentation of the paper.

REFERENCES

- [1] R. Diaz and E. Pariguan, On hypergeometric functions and pochhammer k -symbol, *Divulgaciones Math.* 15 (2007), 179-192.
- [2] M. Mansour, Determining the k -generalized gamma function $\Gamma_k(x)$ by functional equations, *Int. J. Contemp. Math. Sci.* 4 (2009), 1037-1042.
- [3] E. D. Rainville, *Special Functions*, Macmillan Company, New York, 1960..
- [4] A.T. James, Special functions of matrix and single argument in Statistics, In *Theory and Applications of Special Functions*, (Edited by R.A. Askey), pp. 497-520, Academic Press, (1975).
- [5] A.G. Constantine and R.J. Muirhead, Partial differential equations for hypergeometric functions of two argument matrix, *J. Multivariate Anal.* 3 (1972), 332-338.
- [6] L. Jodar and J.C. Cortes, Some properties of gamma and beta matrix functions, *Appl. Math. Lett.* 11 (1998), 89-93.
- [7] G. Golub and C.F. Van Loan, *Matrix Computations*, The Johns Hopkins University Press, Baltimore, MD, (1989).
- [8] R.A. Horn and C.R. Johnson, *Matrix Analysis*, Cambridge University Press, (1993).